Worksheets
Worksheet 1

1. Multiply 1932 by 145. 2. Multiply 62,893 by 248.

3. Multiply 3098 by 1736. 4. Multiply 2148 by 76.

5. Multiply 80,000 by 2000. 6. Multiply 70,000 by 300.

7. Multiply 95,000 by 10,000. 8. Multiply 1298 by 10.

9. Multiply 4090 by 100. 10.  Multiply 9856 x 20.
Worksheet 2

1. Divide 1945 by 23 and find the quotient and the remainder.
Divide 13,592 by 35 and find the quotient and the remainder.
Divide 12,45,690 by 6 and find the quotient and the remainder.
Divide 7,45,239 by 41 and find the quotient and the remainder.
Divide 1,28,79,560 by 5 and find the quotient and the remainder.
Divide 2,35,76,946 by 12 and find the quotient and the remainder.
Round off 1954 to the nearest thousand, 14 to the nearest ten, and estimate the
product.
8. Round off 23,985 to the nearest thousand, 19 to the nearest ten, and estimate the
product.
9. Round off 2087 to the nearest thousand, 12 to the nearest ten, and estimate the
quotient.
10. Round off 12,789 to the nearest thousand, 16 to the nearest ten, and estimate the
quotient.

No ok od

Answers to Worksheet 1

1. 2,80,140 2. 1,55,97,464 3. 53,78,128
. 1,63,248 5. 16,00,00,000 6. 2,10,00,000
7. 95,00,00,000 8. 12,980 9.  4,09,000
10. 1,97,120

Answers to Worksheet 2

1. Quotient = 84; Remainder = 13 2. Quotient = 388; Remainder = 12

3. Quotient = 2,07,615; Remainder=0 4. Quotient = 18,176; Remainder = 23
5. Quotient = 25,75,912 ; Remainder=0 6. Quotient=19,64,745; Remainder =6
7. 20,000 8. 4,80,000

9. 200 10. 650





